Prénom :………………………………….

Date :…………………………………………….

Révisions de calcul mental.

1) U + U et U – U

	7+8=
	5+5=
	8-6=

	6+9=
	2+9=
	6-4=

	4+2=
	6+6=
	3-1=

	9+3=
	9-3=
	7-5=

	7+7=
	7-2=
	8-1=


2) D + U et D – U

	40+5=
	80+1=
	70-4=

	60+8=
	90+8=
	60-1=

	10+9=
	70+9=
	80-8=

	60+7=
	10-5=
	30-5=

	90+3=
	20-3=
	40-6=


3) D + D et D-D

	40+20=
	40+30=
	80-30=

	50+10=
	20+50=
	70-20=

	90+10=
	80+10=
	40-30=

	50+30=
	70-30=
	50-50=

	80+20=
	60-10=
	90-60=


4) D+DU et D-DU

	40+21=
	20+41=
	80-57=

	30+15=
	70+14=
	70-35=

	40+27=
	60+23
	40-18=

	10+53=
	90-13=
	90-42=

	20+64=
	50-24=
	60-19=


5) DU+U et DU-U

	35+5=
	41+6=
	36-2=

	42+8=
	79+3=
	14-2=

	51+3=
	42+6=
	54-6=

	47+3=
	35-6=
	27-3=

	78+1=
	78-4=
	63-4=


6) DU+D et DU-D

	58+20=
	71+20=
	77-30=

	45+20=
	64+10=
	41-20=

	39+40=
	64+30=
	65-40=

	87+10=
	78-40=
	36-10=

	63+30=
	91-50=
	28-20=


7) DU+DU et DU-DU

	41+23=
	61+14=
	87-24=

	54+17=
	34+24=
	64-22=

	34+12=
	16+24=
	78-26=

	64+22=
	74-23=
	65-37=

	35+35=
	86-34=
	92-64=


8) C+C et C-C

	200+400=
	500+200=
	400-100=

	500+100=
	300+200=
	800-300=

	300+600=
	100+500=
	700-600=

	700+100=
	600-200=
	600-300=

	400+300=
	700-500=
	900-700=


9) C+D et C-D

	400+40=
	800+10=
	700-50=

	100+30=
	400+60=
	800-10=

	700+80=
	300+20=
	900-80=

	400+20=
	500-60=
	800-80=

	100+40=
	300-20=
	700-60=


10) C+U et C-U

	500+7=
	800+9=
	400-2=

	200+6=
	700+6=
	400-3=

	100+9=
	800+5=
	300-7=

	500+6=
	500-3=
	600-4=

	900+7=
	700-6=
	900-1=


11)  C+CD et C-CD

	200+630=
	700+150=
	600-210=

	700+250=
	400+510=
	500-320=

	200+360=
	300+140=
	600-410=

	400+230=
	800-120=
	700-150=

	300+120=
	700-350=
	400-150=


12) C+CDU et C-CDU

	200+124=
	800+114=
	500-361=

	600+321=
	500+221=
	400-121=

	700+418=
	300+325=
	700-221=

	500+226=
	600-361=
	600-441=

	700+341=
	400-111=
	900-104=


13) CD + U et CD-U

	250+3=
	150+6=
	230-4=

	780+2=
	370+5=
	370-6=

	140+7=
	780-3=
	430-8=

	220+3=
	480-2=
	590-6=

	470+1=
	410-7=
	620-3=


14) CD+D et CD-D

	250+20=
	230+80=
	740-20=

	460+40=
	630+80=
	670-30=

	390+40=
	450+60=
	960-30=

	780+50=
	450-60=
	630-60=

	640+60=
	450-30=
	150-80=


15) CD+CD et CD-CD

	240+320=
	460+150=
	850-120=

	560+120=
	410+320=
	690-450=

	430+320=
	540-110=
	320-110=

	740+150=
	210-120=
	680-440=

	320+180=
	740-260=
	790-170=


16) CDU+C et CDU-C

	452+100=
	564+200=
	843-400=

	789+200=
	123+600=
	397-200=

	345+400=
	874-500=
	681-300=

	312+500=
	763-300=
	444-400=

	641+300=
	896-400=
	357-200=


17) CDU+D et CDU-D

	741+50=
	147+80=
	641-20=

	156+40=
	276+50=
	398-60=

	493+20=
	789-20=
	411-20=

	761+20=
	563-70=
	789-80=

	365+60=
	962-30=
	231-20=


18) CDU+U et CDU-U

	541+4=
	364+8=
	634-6=

	258+6=
	258+8=
	475-2=

	412+6=
	569-4=
	634-5=

	974+5=
	147-6=
	974-7=

	135+7=
	879-9=
	146-9=


19) CDU+CD et CDU-CD

	546+140=
	256+620=
	641-320=

	463+250=
	411+120=
	841-340=

	762+140=
	444+440=
	652-340=

	743+130=
	741-230=
	236-140=

	394+210=
	652-300=
	674-520=


20) CDU+CDU 

456+247= (……….+………)+(……….+……….)+(………..+………..)=…………

789+123=(……….+………)+(……….+……….)+(………..+………..)=…………

385+261=(……….+………)+(……….+……….)+(………..+………..)=…………

246+341=(……….+………)+(……….+……….)+(………..+………..)=…………

414+486=(……….+………)+(……….+……….)+(………..+………..)=…………

21) CDU-CDU

478-135= …………                  …………….                 …………….           ………………

984-654=…………                  …………….                 …………….           ………………

743-521=…………                  …………….                 …………….           ………….……


364-124=…………                  …………….                 …………….              ………….……

456-215=…………                  …………….                 …………….              ………………

22) Des multiplications et des divisions

132x4= (……….x………)+(……….x……….)+(………..x………..)=………………….

243x3=(……….x………)+(……….x……….)+(………..x………..)=………………….

59x9=(……….x……….)+(………..x………..)=………………….

75x8=(……….x……….)+(………..x………..)=………………….

48x7=(……….x……….)+(………..x………..)=………………….

12x5=

78x5=

140 :5=

360 :5=

12x50=

24x50=

8600 :50=

1400 :50=

7x500=

4x500=

8000 :500=

100000 :500=

24x11=

32x11=

64x11=

32x9=

21x9=

30x9=

	78x10=
	870 :10=
	7800 :100=
	35x1000=

	41x10=
	32x100=
	9800 :100=
	193x10=

	120 :10=
	47x100=
	74x1000=
	36x10=


749 : 7= 

424 :4=

864 :8=

963 :9=

546 :6=

